1. o8 J9Ho)A sinB, cos B, tan B 9] g2 A& & F5foizt.
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o2 1ol A sinx, cosx, tanx 2] 2 =2 S5t =t
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() sin0° = cos0° = tan 0°

© sin45° = cos45° = tan 45°
© sin90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

@ sin0° = cos 90° = tan 90°
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O] #E H 1 ginx = 0.6691 & o], x 9] g7

@® 39°

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°



oS 2" eA /BAC = 90°0°]1,
BCLAHO|t} /CAH = x2 & o], tanx
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7. sin(90°-A) = 3 A off, tanA ©] 27 (T, 0° <A <90°)
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sin 0° = cos 0° = tan 0°
sin 45° = cos 45° = tan 45°
sin 90° = cos 90° = tan 90°
sin 90° = cos 0° = tan 45°

sin 0° = cos 90° = tan 90°
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@ tanA =2

® tanA



/B = 90° o1 27417V ABC of sl AB = gﬁ ol o, tanA 9|
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11. A+B=90° (%, A>0°B>0°)% o, tt

@ cos(90°—A) =sinA
@ sinA+cosB=1

31 A
® tanA = o

0s A

o

T =A%

@ sin?A +cos?A4 =1

@ tanA+tanB=1



12, o3 299 AABC oA 42+

O 6.82

(afzidlel #)
T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314



13. sin3x=

V2 o1l candx ©) & Tt (3 0° < v < 30°)
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cos C

® 3(2- V3)

@ 302+ V3)
® 3(3-V5)

@ 3(1+ V3)
@ 3(2+ V5)



15. & 239 A /BAC = 90°, BC L AH ©|1 /HAC = x &t & of,
tan x 94 %}:% :rLé]'oq ‘j/}
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17. g T2 o]§stol tan15° ) S A2
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t}-& oA AABC 2} ADBC + Z}ZF /BAC = /BCD = 90° 2l
AZr447¥8 ol 11, /DBC = 30°, /ACB = 45°, CD = 4cm ¥ W],
AABC 9] go]&=?

@ 10 cm? @ 1lcm? @ 12cm?
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20. theTt 2 A 4vEr—dy+5 = 0 TF x 2] o] Wre} o]
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Che 1Y} o] Hhx[F9] Zof7t1 Q]
AHEL O A sinx, cosx & UEH+= A
B2 SAUE YEst A2

@® AB,OB @ OB.AB
® AB,OD @ OB,CD
® OD,CD
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23. (sinA + cosA)? + /(cosA —sinA)? & 19|
A < 45°)

FA? (9,00 <

@ 2sinA @ 2cosA @0
@ 1 ® 2



24. tan(2A-30°) = V3 & W, V2(sinA +cosA) -2 9]
(F, 0°<A<90°)
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o2 1A 13a+13¢ & T
Stofet.

€ 13a+13c =

h 5(:1/rnC
Zte sin cos
74° 0.96 0.28
75° 0.96 0.26
76° 0,97 0.24




